Monday 22nd June

Revising Division as the Inverse of Multiplication
[image: Image result for arrays year 2]
We can write four number sentences to match this array.
2 x 3 = 6          
[image: ]3 x 2 = 6          
 
6 ÷ 2 = 3

[image: ]
[image: ]6 ÷ 3 = 2
[image: ]

Write four number sentences to match each of these arrays
[image: Image result for arrays year 2]
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Now draw arrays to match these number sentences:
	 5 x 3 = 15
3 x 5 = 15
15 ÷ 3 = 5
15 ÷ 5 = 3

	

	7 x 2 = 14
2 x 7 = 14
14 ÷ 2 = 7
14 ÷ 7 = 2

	

	9 x 2 = 18
2 x 9 = 18
18 ÷ 2 = 9
18 ÷ 9 = 2
	



Finally match the array with the correct division statement.
[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]                         20 ÷ 5 = 4
[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
                                                                             18 ÷ 2 = 9
[image: ][image: ][image: ][image: ]
[image: ][image: ][image: ][image: ]                                                          15 ÷ 3 = 5                                             
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[image: ][image: ][image: ][image: ]                                                           16 ÷ 8 = 2
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